How do you respond to the following sequence w/ the given hands?

1) 1 – 1 – 1NT – 2 - ?

* with new minor forcing convention

J108

J107

AQ64

KQ4

K62

J10

AQ96

KJ104

1086

984

AQ1098

AK

K82

74

AJ1062

KJ4

2) 1S – 3 – 4NT - ?

* another facet of Blackwood involves the showing of voids in the 4NT response; a jump to the 6 level shows 1 Ace & a void in the bid suit; a bid of 5NT shows 2 Aces & a void; a jump to 6 of the agreed suit shows 1 Ace & a void in a higher suit


6432

--

AQJ10

K8642

KJ109

A843

--

K10984

3) 1 – 2 (game force) – 2 – 2 – 4NT - ?

K1098

KJ4

--

AQ9872

--

AQ10

KJ109

KQJ1098

A1084

K104

--

AQJ1086

4) 1 – 1 – 1N – 2 - ?

1098

10986

AK

AQ42

K4

62

A942

AQJ104

J3

983

AJ4

AQ984

K108

86

AQ3

AJ1042

Answers:

1) Assuming you play new minor forcing:

2 – showing 3 card support

3NT – spades are stopped & top of point count

2 –  showing 3 card support

2/2NT – may depend on partnership agreement

2) Another facet of Blackwood where a jump to the 6 level shows exactly 1 Ace & a void in the bid suit

6 – 1 ace & void in hearts

6 – 1 ace & void in diamonds

3) More Blackwood

6 – 1 ace & void in diamonds

6 – 1 ace & void in higher suit (spades)

5NT – 2 aces & a void

4) Regular hands

2 – show the hearts you couldn’t bid before

3 – show diamond support

3 – no other good bid

3 – show 3 spades

